Year 10 Half Yearly 2017 (5.3) Student: | .
30 marles Teacher: .
Multipie Choice: Circle tiie correct answer.,
1 2x+1 _x=3
' 5 2
17—x -x~—13 —x—2 13—
Ay —= B C d x
) 10 ® 10 © 7 @) 7

2. Which of the following expressions does NOT have m-1 as a factor?

{A) nt* TI ®). mt+1

(o) m+m O w+2m+]

3 What is the solution to the equation: 2'=4+/2 7

1 B 5
®) x=r (B) x=+2 © x=22 @ x=2
4, Ifp+g=10 and p— g =8, what is the value of | p? -7~ 7
(A V2 ®) 22 ©" 32 D) 45

s

5 A snookerrset has identical 15 red balls, three of which are shown helow. If the entire set of red
balls were to be repainted, what area would need to be covered?

(A) 848 cm?

B) 1131cm?
{CY 1696cm?*
D) 5089 cm?

2017 Year 10 Mathematics (5.3) Half Yearly  page 1

Short/exiended response: show all working (25 marks)

1

I 1
6. Given the formula }- = ;Jr;

. g -3
Caleulate the value £ when . = 2.5x107 and v=3.6x10".
Leave your answer in scientific notation correct to two s;gmﬁcam figures.

" Simplify fully:

O )

Gy VIB-V27+4450

3\,/5 +1 . .
8. Express with a rational denominator.
PN N

X
-3 2x-2

2
9. Simplify ~1 X 73X o a single fraction in simplest form.
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10. Completely factorise the following

(i} F—5r—6 2
(ii} 2% - 98y . 2
2 "
(iii)  6x -3xy—dxz+ 2z 2

1X. Consider the following solid, where BC =4 cm, OA=60m, AD=12em, BD=3cm. 2
Calculate the exaer the surface area of the remaining closed shape.

[Surface area of a cone = srrl+ a7 ]
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12. in the diagram, the point P is on a bearing of 30° and 50 km from B.
P is also 45 km due west of D and due East of A.

North

Is
/
/
/
,
A 4skm D
1
A 50.km
309 '
B

(i) What is the size of £ BPD? -

.(ii) Calculate the distance D is East of 4.

2017 Year 1§ Mathematics (5.3) Half Yeasly

page 4




i3.

Consider the following diagram:

@

(if)

(iif)

Give tha 2xact value of sin 45°.

Find the length of AD in exact form.

V31

Hence, show that ED :T

END OF 5.3 SECTTON
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Student: SO LF’{TfUN.f

Year 10 Half Yearly 2017 (5.3)

30 marks Teacher: e
Multiple Choice: Circle the correct answer.
1 2x+1 x-3 In4 L= 53 4 l5 17~ %
’ 5 2 qe - e
17-x —~x—13 —x—2 13—-x
! B C
@ 10 & 10 © 7 ®) 7

2. Which of the following expressions does NOT have m+1 as a factor?

(@ w1 Cant be /—ew{wna(.

@ weiml

A ml-jl S ) -0

(nep) *

(C) w’ +m Mt

2.5 ~

3. What is the solution to the equation: 2%= 442 7 2% 2

(A) x=IIg (B) x=v2 © x=2J2 | @ .x=§

4, ip+qg=10and p—~g=8, what is the value of y/ p* - 4* 7 s Joxg = '4‘/3:

@ 4-f5 1\f

L:"‘A_

Ay V2 ® 27 € 32

A snooker sef has identical 15 red balls, three of which are shown below, T the entize sef of red
balls were to be repainted, what area would need to be covered?

(A) 848 cm?
(B) 1131cm?
© 1696cem?
M) 5089 cm?
SAs 4t x I§ - '
- Sain=s |5

>
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9. -

8.

- si

Short/extended respense: show all working

.

(25 marks)

1.1
6. Given the formula L —t—
v
Caleulate the value £ wheny = 2.5x107 and v=3.6x 197
Leave your answer in scientific notation correct to two significant figures
i utv
£
. 7[\ . nv
- fat v
FIRS xjo T xt b ¥io*3 .
T s e nbeE
. 3.1x0""
Simplify fully:
@ B2 = A =4u:

G J18—27 +450

o A -LAAE 0 4005V

= BJ2-33 ¢ 2942

134J3 ~ 343

32
Express +

with a rational denominator
-3

xzﬂl
3 2x—2

(21 N

NER Y

e

2.3

x_{{ L Sk E
Vi

&

asa smgle fraction in simplest fornt.

1(;;/0
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11,

10.

@i

(ii)

il

i

= 2 (x4 72(%-1),

Completely factorise the following
(i)

A $ICE NP

2>~ 49)

2
6x" —3xy—dxz 4+ 2vz

EE (2a-y) ~2z{2x -y}
(32c-22) (2 -y

S{uk Hoetr bt

Cja-cw:/Cr( 5’;,, fﬂ\u .

'-? /}ltﬁ =

= fe¥d,
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A

Consider the following solid, where BC =4 ¢m, DA = 6em, AD =12 em, BD =3
cIn.

Caleulate the exwet the surface area of the remainin g clnse(l sha
[Surface ared of a cone = rl + 27 ] "

L(¢J¢ cirzlel A /4‘ AP

= BHA

F

A =

= 7‘#’7

n= A,

A AL - ard

= J2R-— 207E~

san,

LA+ lea+r 52x
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12.  In the diagram, the point 2 is on a bearing of 30° and 50 km from B.
P is also 45 km due west of D and due East of 4.

North

§)] What is the size of £ BPD? - 1
. Z AfB = fo” (c‘cbm{féhlw{ﬂrj £'s ‘/ R!J"""L A)

LBFD'J I §o-ko (L Sten oal_ g}r«!j-’»f‘ {iuz)

= 130
'(ii) Calculate the distance D is Bast ;)fA. 2
| 'Ap: 5o ;i..?o'
= 28 hu
Ap-= 15AHE ' .
= 70 hem ! . '
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13. Consider the following diagram:

@ Give tha sxact value of sin 45°,

—

Vo

(ii)  Find the length of AD in exact form.
B’ L

Oy~
i Ap+pc Aoar
o 1
Vi Apes
AD €1 =Yg -
.
) Ap= 3 - | 3
S ) - .

(iii)  Hence, showthat ED="_1
. 2

) Ep=#ADshs 2y°

= 4 -4
= 1 ap

2

END OF 5.3 SECTION
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